Place Value And Number System

Worksheet-3

A] Choose the correct answer:

1. How many thousands are present in 324025?

a) 24 b) 40
c) 324 d) 234

2. 2 Lakhs + 4 thousands + 3 tens + 6 ones =

a) 240036 b) 204036
c) 200436 d) None of these

3. 500000 + 40000 + 8000+ 300 +5 =

a) 548503 b) 584305
c) 458305 d) 548305

4. What is the place value of 6 in 765403?

a) Lakhs b) Ten thousands
c) Hundreds d) Tens

5. What is the sum of the place value of 9’s in 490490.

a) 90090 b) 90900
c) 99000 d) 90009

6. What is the sum of place value and face value of 5 in 507063?

a) 50005 b) 50050
c¢) 500005 d) None of these

7. Which digit is present in ten thousand place of 576403?




a)5 b) 7
c)6 d) 4

8. Divide the place value of 6 in 306035 by the face value of 2 in
4523.

a) 2000 b) 4000
c) 6000 d) 3000

9. 12 times the face value of 5in 576324 =

a) 50 b) 60
Cc) 75 d) None of these

10. What is the predecessor of 5000507?

a) 500040 b) 50045
c) 500049 d) 500051

B] Solve

1. Write the smallest 4-digit number using all the digits 7, 8,5, 9 only
once.

2. Write the largest 4-digit number using all the digits 7, 6,3, 2 only
once.

3. Write the greatest 5-digit number using all the digits 3,8, 6, 7, 5
only once.

4. Write the smallest 6-digit number using all the digits 9, 7, 3, 5,2
only once.




5. Write the smallest 5-digit number using all the digits 7, 5, 6, 3, 1
only once.

6. Write the greatest 5-digit number using all the digits 2, 3, 8, 4, 9
only once.

2. Rewrite the following in ascending order

a) 2485, 1245, 2897, 345

b) 9999, 9876 , 7654, 5643

C) 7656, 2432, 4444, 2222

d) 1111, 999, 6754, 3452

3. Rewrite the following in descending order

a) 67756, 23323, 36212, 90876

b) 12503, 70011, 82219, 68789




c) 57051, 50432, 70551, 77075

d) 20345, 62754, 93879, 40022

e) 7262, 77632, 55565, 40589




